\\
Continuity with Piecewise Functions Name W RN/
pr————

Graph the plecewlse-defined function. Then determine the left and right limits at the indicated values.
Also determine If the function Is continuous at the Indicated value(s). If not, state why.

1. f)= {:f * s1 A) lim_f(x) = \
Is f continuous at x = 17 .
Why or why not? \I B) xIer}J(f(x) = A ;

/(ii? £0) = £ o imfe= |

2. _IVx¥1,x> -1 A) lim_f(x)= "\
= {—x -2,x5-1 . N N A0 O

Is f continuous at x = —1?
Nno B) lim f()= O
Why or why not?

e A i

> f(x)={x3+1'xso A Jlim &= |

e* ,x>0

Is f continuous at x = 0? :
s 9 m e |
Why or why not?

Joum £ = £(0)

o 0 Jme0= |
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» f(x)=[(x_2)2 x> 1

Is f continuous at x = 17

N o
Why or why not?

M-F(K\#-F(h
X\

A Um f(x)= |

xX=-1"

B) lim, [(x)= 3

C) lim f(x) = DWNE

A rd |

1 I 1 1 I

= B froicof e

| ! ! | |

é svefess 3 i = o

| | ! i !

I i 14 } |

| i I i i

{ 4 i i 1 T
+ 4 4 + + 4 —
4 3 2 4 12 1
- A -
I i i |
W — - 3 Te— ' R— 1 - i
: i

i

I ree ol 4 .....l.. ..................

1 i

1 1

5 sinx ,x >

f(x) =

3—-x%,x<

ST

Is f continuous at x = -g—?
Why or why not?
W )+ £ (T2

ST
X’L

A lim_f()=0.53

) lim, f(x) = |

—_ -
= 2

0 lim f) = ONE | »

6 3—x%,x<1
T f(x)=42 ,1<x%3
; S=x,x23
Is f continuous at x = 17
yes

Why or why not?

F(0N= Jom FK)

X\
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A Jim f)= L

B) lim f(x)= 7

C) ?}i_rfllf(x) = 7
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Analyzing a Graph

Worksheet #l

This is the graph of f(x). Answer the questions below the graph.

o-(214)
N
42| | 4 \
o ¢
A_tab

A
4
2
i

< ————© >
i o 1 .
X: b 14: Z 1(2.0)35 §
-0 (' 7") 2
A
.
=
. What is f(2)? 2. What is £(-5)?
O

. Where does f(x) = 3?

4., At what x value does this function

Y = 05&7’5 have its maximum value? 2
. At what x value does this function | 8. Over what x values is this function
have its minimum value? increasing?
—p (oD U(-2,2)V (4,6

. Over what x values is this function

constant?

E’ L‘h ':Z-]

8. Over what x values is this function

positive?

(-5, (o)

. Where does this function equal

zero? }(: "SCZ) L+

10.0ver what x-values is this function

negative?

("'LPJ-S)
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Ratlondls 4-Way Form A

GIVEN:
f( ) x +2x-—8

= e 2

PERSON #1: Factor thc function

= (x +H)(x-2)
REATTE

PERSON #2: Check and initial:

PERSON #2: Find the x-intercept

PERSON #3: Check and initial:

PERSON #3: Find the y-intercept

il e
O+ ('0,4)

PERSON #4: Check and initial:

PERSON #4: Find the horizontal asymptote
cATS DC
L=y i\/ = [

PERSON #1: Check and initial:

PERSON #1: Find the vertical asymptote

X+\=D

PERSON #3: Check and initial:

Person #2: Find the coordinates of the hole.

£(D) = Z‘H'l' _-\O-Z

=)

PERSON #4: Check and initial:

PERSON #3: Graph the asymptotes. y=-
PERSON #4: Graph the function. 0 0 .7 0 0
PERSON #1: Label the x-intercept. ; ; |
PERSON #2: Label the y-intercept. ; ! L\‘ 5 3
] 1 \ 1 1

e e O =

ERERBRERI|NERERSRARER
5 1 -._E_ [l I __.i_..-_-_';

X
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G.N.A.W. on Inverse Functions wame _ e

[*4

Graph

Numerically

f(x)=x*+2; x=0

f)=x%4+2: x>0

x | £
g3 i !
2 g |
v | 2
Ll o 5
i g [ =

S

G

R
N'
o~

2.

24 Fag
¥ ¥

& |N|E (W |- |O

Find the inverse algebraically.
&
=X 4+ X =
— =
- \a + 2

(2 =Y
-1

9= et

£ %) = w2

Use the table and the graph to answer the following:
f(x)= x? +' 2'; x=0

~ Domain:

EO, s=) | L2, 9‘3)

L2, ~) | Co, )

N one Cz,0)

(o) N OVAZ

_ y-intercept
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G.N.A.W. on Inverse Functions wame W

J

_ Numerically

fx)=¥x-3-2
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2.4 -34

= =L 5

- Algebrulc " :

Find the inverse algebraically.

Y= =8 =2 fG)=¥x-3-2
x:g’g_—i -
xvl = Hy-3
(x+20)¥= Ll =%

L= Cx+2) +3
£x)= (xr 2 +3

Use the table and the graph to answer the following:

~ Function |  Inverse

Doma:n (_" oo, o) (- oo, o)

e | (o 05) [ (om0

siercsst | (11, 0) | (-3.4,0)

‘f‘i“te"cept (O/"%'Lﬂ QUELY
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